Inference

1 or | Model L Confidence Test
About? | 22 | geqr [Tremeie|smssmy. - Conditons Interval Statistic
Y\’\7|O h(’ 20 AL _r\) s farss
Frorormong| A 2 P 'F\ h(‘T-F)>1O % N ?‘—:\—F' el {
nT, TEST ?‘Ll::'rt)
“l\a { hp‘ﬁ& >lo }'/NT' ’\«_'\) P({-P ?' £ 67. )
ProPoRTION S A | nga t wl-pa) >0 Rl f e g
g N >zo < X -
N@QY\S L i /{/\ X OR o o3 /\]T\_ = e
d€ =1 G RAPH SATY
A i oot =20 ok X —,(/14’“5““6’0
a5 Eg S X, 5 2EY
ZIAN /O\l x\? i t* /\ﬁ\- t =
/U\ > Muek ffen > GRrApY Xo e
. K -X)— O
t 8y, U\‘QVH_)BO OR 2 3 s? S;:Z :( T X2
Neaas | Q| WS | AA [R%] " aemmns Rt nt 3|7 T,
\ { 2
GoownEsS-oFFIT rKZ Het % s = GWEN 3.
>/ 2 s
st \Bution l #CATG - | Epet EXD3 5 | [ érT FLE'*QT 7“_“ =2 ©—££>—
IJOES MNO —
\tomoGENEITY A H,t Mo A ( 2>
N\{*NY % / 5 o NSsoC 2 O — )
D rsTRIBUTION] GROWTS 6—l>(c—0 Ench EXX'D > 5 e e =
T pDPenvauE 0 / H,w Tuoer, 2 (0-6)2
Xt - =
(5. o) % e EACH EXT'D >5 | . Dev 7(, 28
ResiDuaLs + 4% = b-O
ol 1| € | B | b | e |50 | TR
2 VARS =n-2 NoORM AL L B=2 Ua:B#o

Ranvem SAMPLE/AssiGNMENT
h <10% PoPuLATIon ((F SAMPLE)

Jared Derksen mrmathman.com



